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QUESTION 1
Which two statements are true about subtemplates in Oracle Site Studio?
A. Subtemplates do not have , , and sections.

B. A benefit of using subtemplates is that you can add one without affecting the number of asset types that need to be
managed.

C. A Web site should have at least one subtemplate.
D. Subtemplates can be placed only within placeholders.

Correct Answer: AD

QUESTION 2

Which two statements are true about disabling a criteria workflow in Oracle Content Server?
A. All documents in the workflow are released

B. All documents in the workflow are held until the workflow gets re-enabled

C. New documents are directly released if they do not match another workflow

D. New documents are going to status Pending until the workflow is re-enabled

Correct Answer: AD

QUESTION 3

What is the common feature of Oracle Document Capture and Oracle Distributed Document. Capture that help leverage
corporate data to dynamically index documents?

A. Audit Table

B. Separator Sheet
C. Database Lookup
D. Data Link

Correct Answer: C

QUESTION 4
Which two statements are true about Oracle Enterprise Content Management Suite?

A. Can be integrated with any back office application
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B. Can manage any content type
C. Can provide user provisioning
D. Can only be used for static content on web sites

Correct Answer: AB

QUESTION 5

Which revision status indicates that the revision is being converted to Web-viewable format?
A. RELEASED

B. REVIEW C. GenWWW D. EXPIRED

Correct Answer:
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